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F,=6N, a=30° §=003m E

dgr = (2.2 cm) + (6 cm) tana
= (2.2 cm) + (6 cm) tan30°

= 5.664 cm
dAF = dEF tana
= (5.664 cm) tan30° = 3.270 cm F
_ (2.2 cm) _ (2.2cm)
tand = dyp+ (6cm) " (3.270 cm) + (6 cm)
= 0.2373

tan™'(0.2373) = 13.35°
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v = 90° + o = 90° + 30° = 120°
3 =180° - v - 0
= 180° - 120° - 13.35° = 46.65°

Fo  Fy _ Fp

sing ~ sinf ~ sinvy
Fo= By S0 = 6 Ny SO < 1580 N
Fr=ko k=%=%=629.8N/m
Fy= P, :Eg - (6 N) % = 225 N
[ :

a =30°, P=330N
dpe =025 m, dpy =025m, d,p=03m

dpe 0.25 m

dpp = dep = o0 = S0t = 04330 m
dyp = dyp + dgp = (0.3 m) + (0.4330 m)
= 0.7330 m
d
tang = 2F = _U2om _ 53409

d,r  0.7330m

¢ = tan™'(0.3411) = 18.83°
B =180° - a - 6
= 180° - 30° - 18.83° = 131.17°
£y _ P _ Fp
sina sing sinf
F,=P :Eg = (330 N) % = 219.2 N

180° - ¢ = 90° - 18.83° = 71.17°
Fa=219 N 71.2°
_ , sinf _ sinl8.83° _
Fyp=P Sing (330 N) smislic - 141.49 N

180° - o = 90° - 30° = 60°

Fe = 225 N

k = 629 N/m

13.35°

Fe = 1415 N
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Fs

60.0°




